
±90°
±90°

±90°

-30°

+75°

360°

�
�

�
D

c

B
C

17
0

17
0 45

5

39520056
240 82

49

� �

A

28.6x104

Weight range
       (kg)

Product Specification

Hole layout
     (mm)

340
75*75

100*100
+75°~ -30° ±90° ±90°

Outside: 7.8
Outside: 490*210*440

Outside: 9.8

Inner: 2.6Inner: 475*195*140

Inner/Outside: 3/1

Inner: 3.12-10

8-20
30"

Monitor size VESALift(mm) Tilt Swivel Pivot Packing size
     （mm）  N.W(kg)  G.W(kg)Item

Specifica
-tion

Sketch kg NW GW

Installation ManualInstallation ManualLCD Monitor Arm

Product name: Articulating Monitor Arm Mount - Reach SKU:660REACH



� �

�

A �

�

�

�

B

C

D

e

d

d

d

�

�

�M4x12

a

b

c

d

e

M4

M6

Rude dismantle
  isn’t allowed !

Attention

Keep extra 40-50mm
length in the joint

Install Finished
BS112

Adjust this according
to monitor weight

Don’t adjust this unless 
the gas arm is horizontal Monitor remove

Try more to make above adjustment
based on monitor weight to get best 
free-stop effect

No. Sketch Specs Quantity

No. Sketch Specs Quantity

�

�

M6x40



3 4 5

                      
Assembly Instructions
  IT Mount - Universal VESA mount SKU: SMP01

Sheet 1 of 3

5
127mm
 ”

8
203.2mm

www.compulocks.com | online@maclocks.com | +1 800-948-0344 ©Compulocks Brands Inc. All Rights Reserved.j 

1 2

 ”

IDENTIFY THE FIXING AREA, 
AND CLEAN 

WITH ALCOHOL PADS PROVIDED

PEEL COVER 
TO EXPOSE 
ADHESIVE PAD

PEEL COVER 
TO EXPOSE 
ADHESIVE PAD

INSTALL MOUNT, 
CENTERED 

ON THE CLEANED AREA

ACHIEVES FULL STRENGTH 
AFTER 12 HOURS

REMOVE MOUNT FROM DEVICE 
BY REMOVING M4 PIN TORX SCREWS 
USING PROVIDED T-15 SCREWDRIVER

INSTALL MOUNT ON 
ANY 100mm VESA COMPATIBLE STAND OR ARM 

USING PROVIDED M4x10mm PHILLIPS PAN HEAD SCREWS

RISE POLE STAND SHOWN



7 8

                      
Assembly Instructions
  IT Mount - Universal VESA mount SKU: SMP01

Sheet 2 of 3www.compulocks.com | online@maclocks.com | +1 800-948-0344 ©Compulocks Brands Inc. All Rights Reserved.j 

6

  ROUTE POWER CABLE
  THROUGH MOUNT
AND STAND

  ATTACH POWER CABLE
TO DEVICE

  RE-ATTACH DEVICE TO MOUNT
  WITH M4 PIN TORX SCREWS

USING PROVIDED T-15 SCREWDRIVER

  IT MOUNT CAN FIX TO ANY
LAPTOP OR TABLET

  IT MOUNT IS COMPATIBLE WITH ANY
100mm VESA STAND, ARM OR MOUNT



                      
Assembly Instructions
  IT Mount - Universal VESA mount SKU: SMP01

Sheet 3 of 3www.compulocks.com | online@maclocks.com | +1 800-948-0344 ©Compulocks Brands Inc. All Rights Reserved.j 

Compatible With All Compulocks’ Stands 


	660REACH Instruction
	IT_Mount_instructions_combined_1

